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(C) urGeungi LnySHgnses

(D) pmsased sellEhi

(E) lew Qg flweleveneo




D 90.67.61610 SMEIL_L

69. 4 etevi eTeTTINETIS GHDSHEGD SOCSSI 61517

(A) o
(B) &
©) 2
D) ®

(E) Mew_ QzfMwelleveneo




T0.

D g.67.6T610 y&HMGIL_LO

Smeuressder QLb GQupp ur_eosefler

6T6TvTETNN | H6MS

(A) smprHm PLUSAS®H

(B) imimmom srsteTLSenShs

(©) prempoi POUSCH 0O
(D) ipipmpmics uss:

(E) Mlew QzfMwelevenso




D g.67.67610 HMGIL_LA

“BrienL& HerelCLed QewertnbCs eum(priseT

WfABsmed Cunmeflevensv” stestmeut wimi ?
(A) pyursss

(B) sngm

(C) eunewflgnasst

(D) sevvrevsigngest

(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

@&Cmn wreweruGuri &6 HMIed

Fev1emeS0\GBNes miewTL e GlFieunss elenest
- Beuaugaeafles emas6gnemn Clum@msT wng?
(A) uewL seusd

(B) uewL smellser

(C) ewsL1QuUIT@meT

(D) eueSlemipwinest gy uisid

(E) lew Qgflweleveneo




3.

D 90.67.67610 SSHMOL_LO

SisSSemeny b, LnsdHlenewtu b Caiggis gnmib

L (DS0STens HI6D 6157
(A) ufium_ed

(B) mpdlenesst

(©) praGniBIDI

(D) vfppiLiuss

(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

T4. Sigens seTLgen ClLINhET wng)?
(A) sjemflaeoesr

(B) s195560

(OX-1CI)

(D) &myb

(E) Mlew QzfMwelevenso




D g.67.67610 HMGIL_LA

75.  gmywneseul opmmlw Lewfl 61g)?
(A) srssscwsst
(B) sl &alinenflumeni
(C) usdfisengwmenr

(D) @emslinewflwmeri

(E) Mew_ QzfMwelleveneo




6.

D g.67.6T610 y&HMGIL_LO

seown GleuliLib FemPssa|bd eab Clgm e
FEOLD 6T6UTLIZ)

(A) QuuwirsGared

(B) mpi@sL L eidliwenn CQUwGFsD

(C) alener&amed

(D) 2_fM&Glgmen

(E) Mlew QzfMwelevenso




90.67.61610 SMOIL_L

“GETTLIS LIMETTIqWI6N” eTemenid Guwi Qumm

LIM6TBTIGUI LO6DTEBTEHT

(A) euidlw Caaiy LimesoTIg W6
(B) &nét1 Lim6BBTIG WI6HT

(C) @Lmoessfl Limevoriqwebr

(D) Qumhena LimesoTIq UI6HT

(E) Mlew QzfMwelevenso




8.

D g.67.6T610 y&HMGIL_LO

sOlpasSlest Geur_siv Cleunis’ stesr) LisspLiLiBILIeuT

(A) unrlgnessn
(B) sbLsnsen
(C) wr@smewmit
(D) aunewlignaeir

(E) Mlew QzfMwelevenso




79.

D g.67.67610 HMGIL_LA

Qunmsswreseupenns CainbosH &S
(A) Qe6vefl Limgevtme - Slemewst eu(Lp

(B) etet1 wmon eunbzg - Semewt euipn Hlemed

(C) mretr eunbGaem - G eup

(D) pmis s5510 - wrY Qg

(E) Mew_ QzfMwelleveneo




D g.67.6T610 y&HMGIL_LO

“Cenzafllis spussSen Cseus Smweor
Guimewtid

LDEITL|6V6U6TT GUETEheU6TTOUMIE ClFTed” - 6T6dTD

QEuiu|6T QFTLT EOIOHSIETOT BT 6157

(A) Smwnglnd

(B) ere0ng)

(O) Smausrenaiorened
(D) Gaeunyid

(E) lev QzfMwelevenso




D g.67.67610 HMGIL_LA

“o L6 wewTamis@, 2 Wl sblwpsE” stertm

Qanenemasenw 2 wWliepemis CuHmeut wri?
(A) unpSlwmi

(B) unrdsreer

(C) sygn

(D) seflwewfl

(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

82. Slemewiaema@iw earmiGClLwisemsT CLNHSS!s.

(a) @Mlerd 1) umg, Gafl

(b) pevemev 2) Guemi epgi

(c) w@mswD 3) uLig6rd, LTSS

(d)epiged 4) FpiEt

(a) ©

A) 1
(B)
©
D)
(E) lev Qg flweleveneo

1

4
2
2
3

2

4
4 3
1 4




D g.67.67610 HMGIL_LA

2 eworuigl Bl 2 Pliueney QressrGL

Wpeyd et6ve0md 6 85 WG -  Glium_ev

euflast @b QupmisTeT HTeL

(A) ypsremm
(B) sispremm
(€) pEaEDIBIDI
(D) LAum_6b

(E) Mlew Qzflwelevenso




84.

D g.67.6T610 y&HMGIL_LO

‘Fupsmublenb wrsdHlen Calenrs niijpsae

SfSgL_Moed 5SS BEas ClaTeved WHHSTSH
Bepseui

(A) ojevvremvred SbSliigser

(B) sbCGussi

(C) smews Guflwm

(D) umpdlwni

(E) Mew QzfMwelevenso




85.

D g.67.67610 HMGIL_LA

eugpe & Glgmeveonm CFT_ii 618?

(A) euevg) LssE saufled e1aTCs
(B) auevtingaé seufled erpsmCs

(O) suevinsss seunmled e1(psTCs
(D) auevg) LsaE seunmled epsTCs

(E) Mew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

86. LesTeu(HeueneuDMI6T BDWOIPEUTENTS &DISHSHNS

Quuwit

(A) urEsen
(B) sblipomeit
(C) sfipeSwmsit
(D) sL_GarLien

(E) Mlew QzfMwelevenso




87.

D 90.67.67610 SSHMOL_LO

ANCIENT AND MODERN TAMIL POETS
eTesTeID BTedlet oy Sfluir
(A) &l.e1681. . ETVTEBVTNG 6D
(B) Geugmmusid Merenen

(C) wenmeneowig 6T

(D) 2_.Gau.emdprengwi

(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

Seflenwé &_(he:

“ETTLISSS Q660 2 UNTEUTLDEHENS CUESTLIMDHE6T0T
upped rdgeflis SHOI”

(A) 508z 2 Heus jewfl

(B) sihsg186a1_ (B 2_6uenw Ijewfl

(C) Goupmyemin yemwfl

(D) @e0Qumrmer 2_eauemin jewfl

(E) lew QzfMwelevenso




D g.67.67610 HMGIL_LA

“c15Canafled spgabd @omLusns Qerenpw

Sifleflwed spiiey snpSing)”
(A) safl

(B) ysetr

(C) eSwimpetr

(D) Qeusier

(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

‘Bhguwler Ba&aL umgeuhs Heor ererm

umgrl_ ol eui wimr?
(A) umrdlgnges

(B) sevstemtgngsst

(C) urpdwimri

(D) eunewfllgngest

(E) Mlew QzfMwelevenso




91.

D g.67.67610 HMGIL_LA

AnGoren N5z wpss.

(A) Ab) + @evL
(B) Aimien + @evL
(C) Al + pevL
(D) & + gL

(E) Mew_ QzfMwelleveneo




D g.67.6T610 y&HMGIL_LO

92. SDUTMDMLETTSS6) &ihSTHTETTL LD

(A) wpanaTewTL_Ld

(B) hgrhisTeTLID

(C) erpriismewsIL_LD
(D) ewpeoipmd smevsT_Ld

(E) Mlew QzfMwelevenso




D g.67.67610 HMGIL_LA

“Qenessudlevensy (PLLITEISE DHHsCs” - Ba

wnenL_w Lrgrl(hewy?

(A) urpdgresr

(B) unmgdlwmi

(C) Brwsse sellepi

(D) seflwenfl Caflw eflpmusd

(E) Mlew QzfMwelevenso




94.

D g.67.6T610 y&HMGIL_LO

euTey - e18liFtlFmen H(Hs.

(A) wpeunems
(B) 2 gaumans
(C) mr_nemio

(D) @eoeonamin

(E) Mlew QzfMwelevenso




90.67.61610 SMOIL_L

“Siml eIMIDL|D SiFH6tT enSHUNEBTTEL 6T6VT FMeTDT

2 L w@s” stetTmeu
(A) uresri

(B) Qumiuiled Ljeveur

(C) QebyeoiCUwe Bymi

(D) gerenauwmi

(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

96. GETMEHGIy IIGHENTIMED ‘HeNlWTE 6TeTE D

ulLib Qupmeur
(A) 5. Dsoepis

(B) seNlgpit argm

(C) unrSlgneen

(D) @pqwirgesr

(E) Mlew QzfMwelevenso




oT.

D 90.67.67610 SSHMOL_LO

Qeustor_emer eNrellw & 68 6l 6w 655T LI M6 M6V

umtin(eug) 61g?
(A) e

(B) sna

(C) sevbusD

(D) sibsrs]

(E) Mlew QzfMwelevenso




98.

D g.67.6T610 y&HMGIL_LO

BrwssT LIL6 (i@ 195 Clenessi ClLswTessTrd)

wimi?

(A) vRmewssTs
(B) ggnestenSiymenl

(C) @orewfl wrusbDIOTeT

(D) sLngemss Crmiquimt

(E) Mlew QzfMwelevenso




99.

D g.67.67610 HMGIL_LA

gflwren elewLemws Comos®55Os :

(a) Nemerstlgnens 1. mBredlyessi(H)
(b) 2 cuemwsLgtems 2. GaLGzTled
(C) e benws@snms 3. Leusreumis CLdlemst
(d) sieElnfs6gTens 4. wS(pasD
(a) (b) ()
(A) 2 4 1
(B) 3 1
©) 2 3
(D) 3 1
(E) Mlew QzfMwelevenso




D g.67.6T610 y&HMGIL_LO

100. ‘Spening Caing Osnerenr Geuetrriquieuisen

61681 eueTEheU Wirenys GOILLSIH\Emmi?
(A) sietryemL_Quimi

(B) siley wpHisdlwen_Guimi

(C) =yfieuibl@ mevvrLIig:s

(D) e—pmmir

(E) Mlew QzfMwelevenso




90.67.61610 SMOIL_L

Spsaeui o fenwaemer Lflfeener Cleis

(i) seve 2 femio

(i) Qurg Ceemeuullsy sweumiiflenio

(iii) 2_ewreysanen 2 Memwo

Spsaeeunmled 61gl/cteneu sTeuCse weslly 2 Memwaer
r_sensdled 2 srengmELn?

(A) (1) v (B) (1) wpoud (i)

(C) (iii) wl (b (D) (i), (ii) wHmub (iii)

(E) lev_ Gz fwelsoened

Consider the following rights

(1) Right to education
(i) Right to equal access to public service

(iii) Right to food
Which of the above is/are human rights under ‘universal
declaration of Human Rights’?

(A) Only (i) (B) (i) and (ii)
(C) Only (iii) (D) (i), (ii) and (iii)

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

102. eBs eldwreng Puduneled Smdafssiin L

Qumflaener upsdl GNUKNGS DS

(A) 341 eugy N8 (B) 342 eug M4
(C) 343 aug 4 (D) 344 sug N8
(E) lev Qg flweleveneo

In Which article deals official languages in India.
(A) Article 341 (B) Article 342

(C) Article 343 (D) Article 344

(E) Answer not known




103.

90.67.61610 SMOIL_L

sreo(penmliLiy. euflenslii®ss)

I. GYhBms Smwesr seoL &L Lb

II. eupsL_senessr HewL_ FL_L LD

1. &8 gevL & L1b

IV. eflugesnr genL gL b

(A) LILIILIV B) IV, ILIIL I
©) ILIUL LIV (D) 1L I, IV, I
(E) em Qg flwefevsmneo

Rearrange chronologically

1. The prohibition of Child Marriage Act

II. The Dowry Prohibition Act

III. Sati (prevention) Act

IV. The Immoral Traffic (prevention) Act
A) LILILIV B) IV, 1L 1L I
©) ILIL LIV (D) ILIL IV, 1

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

104. mw mrligen rlwed Semwliy sl Lgdleo LG
XV-6v, a31858 324-29-60 eMeuflsasLiu_(Heren
Qeweowenn 615)?

(A) Sosgsd
(B) sl Lmseflenr Gan@iy

(C) Gsirzev
(D) euigssd wHMID euenflsd
(E) lev Qzflwelevenso

Which important process of our nation is covered
by Part XV Articles 324-29 ?

(A) Amendment

(B) Compilation of laws
(C) Elections

(D) Trade and Commerce

(E) Answer not known




D g.67.67610 HMGIL_LA

105. Gameun, Lmoesr wHmid eoLuf wHFTEOLLLE

glLgdlen epeowns Gameur wrHleowns e

2sTT(H)

(A) 1986 (B) 1987
(C) 1988 (D) 1989
(E) eSenL Qzfwelerenen

Goa conferred a stathood by the Goa, Daman and

Diu Reorganisation act in the year
(A) 1986 (B) 1987
(C) 1988 (D) 1989

(E) Answer not known




90.67.61610 |SMoIL_L
SpaseniL aunsSwnamens sealaflssea]b:
L. wrfleo BHieunagSlen BrDL weRT_60WNs ClFUINSD 2 6Torg

II. @pdlw HieurssSlesn SjiglILIeHL S|608Hs ML L LD 2 6Terg.

I1. wren’ L BlieunagSlei geneveurns e’ L oy Swireni 2_eemmi.

IV. wrfleo Bicunasslen Bliaunas semeoeurts oyEhbi 2 ememmi.
Bauppier a151 SeunI?

(A) III w_ @b seum (B)IV w (b geumy

(C) I wpmud 1T seumy (D) IIT womyd IV geumy

(E) eflev QzfMwelereneo

Consider the following statements:

I. Secretariat is the nerve centre of the State Administration.

11. District is the basic unit of administration in India.

I11. The District Collector is the head of the District Administration.
IV. Governor is the administrative head of the State Administration,
Which statement is not correct ?

(A) IlI is not correct (B) IV is not correct.

(C) I and II are not correct (D) Il and IV are not correct
(E) Answer not known




o SGHOD o.67.6760 YHTGIL_LO)

sflwren ellenLenwsg CaMHO50H:

L 8w rdlwevenioiiy, st Srsluevenioliy

II. @ srdwedsnoliy Qrdlup, CrSpr GuiedLenLwig.
L. @pdw SirdlwevenivliL) LSETTLDD STEHF 2 HL LG

V. @58w Syréwevenioli] anl L 8 (pevn rasE edlymens.
(A) Lol @b &f (B)1I G &f

(©)LII wpmid IV wl @b &l

(D)L, 11 gy 111 w @i &A

(E) eflev QzfNwelereneo

Which is the correct statement ?

I. Indian Constitution is a written one.

II. Indian Constitution consists of features of both flexible and rigid
Constitutions,

I11. Indian Constitution established a Secular State.

V. Indian Constitution is against the Federal System of Government.
(A) I only correct (B) I only correct

(C)1, T and IV only correct (D) I, T and I1I only correct

(E) Answer not known




90.67.61610 |SMoIL_L

108. waeayemrulled FwHIWL, WHETTUDHD WLHMHILD

Q@DMIENLD 6163 euMiGengast GCansgasliul L g)
(A) 4leug rdlwevenoliy HHSSFLL LD
(B) 426ug1 srflwevenoliy HHSHeL L 1d

(C) 436ug Srflwevenoliy sz &L b
(D) 446ug1 srdlwevedoliy SHmSs L b

(E) lew Qg flweleveneo

The words Socialist, Secular and Integrity were
inserted in the Preamble by the

(A) 41 Amendment Act
(B) 42nd Amendment Act
(C) 43 Amendment Act
(D) 44™ Amendment Act

(E) Answer not known




D g.67.67610 HMGIL_LA

109. 42 *¢ gpflwevenliys &L s5l(H5s55S60m Lig
a5 ement flanrmiset wrBleols LI iquwiedled
Bmha CugIiLL1quIe)&E WIHDLUILIL L 6v1?
(A)3 (B) 4
©s (D) 6
(E) lew Qg flweleveneo
How many subjects were transferred to concurrent

list from state list by the 42" Amendment Act
(A)3 (B) 4

©) s (D) 6

(E) Answer not known




90.67.61610 |SMoIL_L

Speumeuateupenn CuNBHSHS: ULligwe | @ (SgliuenL
2 flevwaem) uliqwed I (@ndHu Srslwevenoii ellSlaer) o e
Qunpsd sflwrer elen_evw CaibOsMH.
uliquied [ vl igued 11
(a) swsgieu 2 fevo 1. 19 b efd)
(b) aandlr 2 fenw 2. 14-18 edlaen
(c) ws& asBST 2 Mo 3. 32 b A8
(d) swrdwevemotiy uflam 2 fepwd. 25 b el
Match the following Match List I [Fundamental Rights] with List
II [Articles of the Indian Constitution] and select the correct code
ListI ListII
(a) Right to Equality 1. Article 19
(b) Right to Freedom 2. Article 14-18
(c) Right to Freedom of Religion 3. Article 32
(d)Rightto Constitutional Remedies 4. Article 25
(@) (b) (© (d)
(A) 1 3 4 2
(B) 2 1 4 3
(©) 1 4 3 2
D) 3 4 2 1
(E) eflewL Qgfwelleveney /| Answer not known




I11.

90.67.61610 SMOIL_L

BnHwrellen (pze0 CeonsLmed ewOLIL| 615ZHE06wT
2 miiSlesisenen Olaneso(Rlseng?

(A) eerug 2 nilSenissT WHHID QI Heeveur
(B) L@ empluferisen wLOMIL &@®
FHEDEVEUIT

(©) e 2-miiSeniiaeT WHMID Q@ Seweveur

(D) mretis BHsg1emn FMing 2 nitiklemigst wHmID 4
BHSgieon Fnrng o niliferigeT 2 L6t (b Seneveui

(E) em QgfMwefevemnev

India’s first-Lokpal consists of how many members
(A) 9 members and one chairman

(B) 8 members and one chairman

(C) 7 members and one chairman

(D) 4 judicial and 4 non judicial members with one
chairman

(E) Answer not known




90.67.61610 |SMoIL_L

112. Csliiged gyememnugensl ClLnmsseaient, e L
ojeredley, wreul L g SHmwyd yHarflwre wrr
QeweouFprisen?

(A) wreul L eu@meums yglsmfl
(B) emt gy Awir

(C) wreul L gy" Awir

(D) wrfleo Caiged oy enewTuwi
(E) lev Qg flweleveneo

For the Election Commission, at the district level,
who acts as the district returning officer?

(A) District Revenue Officer

(B) Sub Collector

(C) District Collector

(D) State Election Commissioner
(E) Answer not known




90.67.61610 SMOIL_L

113. efeugmuibd gmrng Clensgisaet g eufl els@0

femsenss QuDOlmHLILE
(A) auenllasgienn

(B) wrflev &L esTpmiseT
(C) unrmepeTDHLD

(D) @emeu e1gia|leveneo
(E) efew QzMweNevensv

The power to levy an estate duty in respect of
non-agricultural land belongs to

(A) Commercial Department
(B) State Legislatures

(C) Parliament
(D) None of the above

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

114.  @phleneouliwiedso sevfl 2 uliflewid 60608 ClBm@LIL
2 uilflewid eteuieunmy evp&&LILIGS esTME?

(A) ewsesfl @pBleneoullwied

(B) gp=Cr (g pHlensouiliued

(C) Cal 6L @wiHlemeouiuied
(D) umnyGeveagssr @pibleneoudlied
(E) lev Qg flweleveneo

The ecology of individual organisms (or) species
is called

(A) Synecology

(B) Autoecology

(C) Habitat ecology
(D) Population ecology
(E) Answer not known




D 90.67.67610 SSHMOL_LO

115. &Gy Qe asliL_(DsTateunHnieT 6Thg emeuL_L Lblesr
Qelumss 2 muy OQesweurliiyng
Caemeul i dma)

(A) emeulL18lest A

(B) eweu_L1blesr B

(C) eweu_L1blesr D

(D) eweul_18lesr E

(E) Mlew QzMweleveneo

Which of the following vitamin is required for
gonadal function ?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin D
(D) Vitamin E
(E) Answer not known




D g.67.6T610 y&HMGIL_LO

116. &Gy Qan&siiu’_(erer emdlen ClLTBHSTS
getenp CaimolsG:
1. arg Grmi 2. Qanp Cmmi

3. smeoym 4. GureS\Guim
A4 (B)2

O 1 (D)3

(E) Mlev Qzfwelevenso

Pick out the odd one out :

1. Tuberculosis 2. Leprosy

3. Cholera 4. Polio
(A)4 (B)2

O1 D)3

(E) Answer not known




90.67.61610 SMOIL_L

Speumd élmu/gmsuﬂ Baupeop Seupden a6 QUIBSS:

(A) pieonized evy - 1. Syrem amy GoODES Qrsssms BswsSelnssl

D NN R CE T A EN

(B) miennuiyed gierl - 2. s1p881, Sm60 HMID epenense BTss5m8 THSSIE

Qaeogiid

(C) aCGrmigl devy - 3. AmifrasdnE Préssms abSsEsoMID

(D) &mifras Sy - 4. Agrent euny Hevnis Bréssms BenruSededmnbs

BsusBpe aBsss Oedgid

Match the following veins/arteries with their transportations:

(a) Pulmonary veins 1. Delivery of oxygen poor blood from heart to lungs

(b) Pulmonary arteries 2. Delivery of blood to neck, head and brain

(c) Carotid arteries 3. Delivery of blood to kidney

(d) Renal arteries 4. Delivery of oxygenated blood from lungs to heart
(@) (b)

(A) 1

(B) 2

© 4

D) 2

(E) efem Gsfluelevensy /| Answer not known




D g.67.6T610 y&HMGIL_LO

118. <y epdGumevluibd, ibGeumenGluid auensudleo

Bmis Ggame Camu@damsg
(A) etlQumpgIDd LISGEDILWITESTS)

(B) anlligemevaen Claneser_g

(C) ANlw erellenests GsneverLg)

(D) @6v&6, @GBSI ELPL_LILIL Ig (HEEGHLD
(E) lev QgfNweleveneo

Angiosperms differ from gymnosperms by
(A) Being evergreen

(B) Having compound leaves

(C) Being smaller in size

(D) Having ovule enclosed in the ovary

(E) Answer not known




D 90.67.67610 SSHMOL_LO

119. @l uesflssgiefls smeumbd stesm) SevwssLiLIDeus?

(A) sev@LLnT (B) LyeSym
(C) eunesor_m (D) eMervasid
(E) lew Qg flweleveneo

Which is known as “Sundew Plant”
(A) Cuscutta (B) Drosera
(C) Vanda (D) Viscum

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

120. Sesteugmeuesteummien 618 HEl&0amarenaulles Sip

QU(HLD?

(A) eumidl eSgid

(B) syréleir Gsevey

(C) Qeuefll ymiBMg BL GG SHDS
(D) wmb Qrrés QL eSsibd
(E) lev Qg flweleveneo
Which one of the following comes under fiscal
policy ?

(A) Bank rate policy

(B) Public Expenditure

(C) Open Market Operation

(D) Variable Cash reserve ratio
(E) Answer not known




90.67.67610 SSHMOL_LO

slewfly (A) 1991 e ySHw Qunmemsre SIS HSSHis6T
SNsLLGSSLILLL 1o Bg S LNQFND BHeoeo
SLOMes IHDEISET eTHLIL (DleTereur.

smyewid (R) @pdw S fl@geden evww Crrésd
&ES6M6T UTPGEMES SIHMS 2 TGSHISE0NELD.

(A) (A) wpmi> (R) &l (B)(A) geumy (R) &l
(©)(A) wpgio (R) gy (D) (A) &fl (R) seumy
(E) elem Qzflwelsvenco

Assertion (A) : Since the introduction of economic reforms in
1991, there has been a qualitative change in our planning.

Reason (R): The central objective of planning in India is to
raise the standard of living of the people.

(A) (A) and (R) are correct

(B) (A) is wrong, (R) is correct.
(C) (A) and (R) are wrong

(D) (A) is correct, (R) is wrong
(E) Answer not known




D g.67.6T610 y&HMGIL_LO

122. Qungisgieon eumdlsafles corusrsens wSLIH
QEIUSNHTEH HDSHILL L @ (LD

(A) Caevsi @

(B) mrélownd Gep

©) & o

(D) grggn Gleevemeowim @ (Lp
(E) Mlev Qzfwelevenso

Which Committee was constituted to assess the
profitability of public sector banks?

(A) Kelkar Committee

(B) Narasimhan Committee
(C) Jha Committee

(D) Raja chelliah Committee

(E) Answer not known




123.

90.67.67610 SSHMOL_LO

W ear QG’»I‘I’@G’;G’;LIIJL@&T&T Sndwrelen Behm ulen
Wifleysener Cuedmpig SpCrTass g Qg iedwins
SIDWSHTE 616G eauflens flwimeng?

(A) waev Hemeuggienn, GressiLid Hlensoggienn, epsmid
Bemevggienn

(B) psed Henevsgienn, epsmid Hleneoggienn, GreterL_mbd
Bemeoggienp

(C) @revormbd Hlemeoggienm, epeoid Hlenesgienn, (PEeo
Bemevsgienn

(D) epsimpmd Hlenevggiemm, Grewoibd Heveosgienn, (P60
Bemeoggienn

(E) eflen Qgflwelsveneo

Which is the correct sequence of various sectors in GDP of
India in the descending order?

(A) Primary sector, Secondary sector, Tertiary sector
(B) Primary sector, Tertiary sector, Secondary sector
(C) Secondary sector, Tertiary sector, Primary sector
(D) Tertiary sector, Secondary sector, Primary sector

(E) Answer not known




D 90.67.67600 SHSHTOL_LO

124. a5 ggg,g,nm@g, b euenr Geuened

eumiiy Qewed S b euemiddlujest Cgmiiy
Q& nevsTL_g)1?

(A) pbsreus @HSTEH SLLb

(B) oppreug gisnem® S

(C) enpreug pnsrewi(® SLLd

(D) elneug mmsTeI(H S b

(E) flev Qgflwelevenev

Till which Five Year Plan, employment strategy
had been growth linked?

(A) Fifth Five Year Plan
(B) Sixth Five Year Plan
(C) Seventh Five Year Plan
(D) Eighth Five Year Plan

(E) Answer not known




125.

D g.67.67610 HMGIL_LA

Ilopeus mupsrav®s S sdeo, srnafl
Quwrsgs Caflw 2 PSS eibleunm =y 6vTIqeID
b5 dldsse Qmegn aam Qs
Bliesrudsasin L g)?

(A) 6 gz6isD (B) 7 #z6izd

(C) 8 #z6izbd (D) 9 szeisd

(E) lev Qg flweleveneo

The target for average GDP per year in the Eleventh

Five Year Plan was
(A) 6 percent (B) 7 percent
(C) 8 percent (D) 9 percent

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

126. Nereu@ueuenien 615 W&HSH6T 6 GTensemw
Snoneslla@ smenfl geve0 ?
(A) Wpiy eSew
(B) oy ofsid
(C) @LuQuwiss
(D) aumyemio

(E) Mlev Qzfwelevenso

Which one is not a factor influencing population?
(A) Birth Rate

(B) Death Rate

(C) Migration

(D) Poverty

(E) Answer not known




127.

90.67.61610 SMOIL_L

S1p&a6TTLeuDMey 618 Seumnes M&ens:?

(A) 2@momlwu urempsealled s&eT 616506l eworl
srewTlLOH g

(B) s&en eenGlemmiisen o (peunenr QL miseflGeo
snesor L\ esTm 6wt

(C) s6em ecemrOemrii 6unudas@pL 6
gnesorIL(H\HesTm 6wt

(D) ssan eemsiOewl 2 (Heurenr ez Slev siflwong
(HGIH TNt

(E) em Qg flweNevsmneo

Which one of the following statement is not correct?
(A) Crude oil is found in metamorphic rocks

(B) Crude oil is found at the place of formation

(C) Crude oil Overlain with gases

(D) The orgin of crude oil is considered to be organic

(E) Answer not known




90.67.61610 |SMoIL_L

Gflenené pesmeunm &mhilelmLd
S6VLD
1. 687 mr_aen
2. 87.97 mr_sen
3.224, 7 m_sen
d. Qeeueumi 4. 365 1/4 mrisen
Match List - I with List - IT correctly and select your answer:
List-1 List-1I
Planet Duration of Revolution
a. Mercury 1. 687 days
b. Venus 2.87.97 days
c. Earth 3.224.7 days
d. Mars 4.365 1/4 days
© d
(A) 3 4
(B)
©
(D) 4 3 1 2
(E) eflew Qgfwedevemwsv /| Answer not known




D g.67.67610 HMGIL_LA

129. eaflms -2 L6 euflews -0 CQurmsd sflwne

@UW®H 2_eter Lflenevs Caimbols[H&s:

auflens |

(a) Suunenm

(b) uigeyls umenm

(¢) e-@wmilwds urenn
(d) 2 enGumbBaLl LTenD

auflens 11

1. wewrHLTEHDH
2. Srnenestl_

3. en&Canedls
4. @euni_eng_

Match List I with List II and select the correct answer

using the codes given below:

List1

(a) Igneous rock
(b) Sedimentary rock
(c) Metamorphic rock
(d) Intrusive rock

(a) (b)
(A) 1 4

(B) 2 3
©) 4 1
(D) 2 1

List I

1. Sandstone
2. Granite

3. Laccoliths
4. Quartzite
(c) (d)
3 2

4 1
2 3
4 3

(E) v Qzflwelsveney /| Answer not known




90.67.61610 |SMoIL_L

auflens 1 -2 et euflews 11 -emenrs QLSS euflensaensE Sp
Qarpssliu’_@eter CQsngLlelmbs sflwrer elenulenens
Qsfle) Qaws:
auflens 1 auflens 11
LITeDD 6U6mE unenm L9fey
(a) NGwmemeoL 1. GewewTmidy LigeyLiLinenm
(b) sevemEuESHR 2. a(p Clumennueem 2 @Hmilw Litenn
(C) LVENSEHS6) 3. ewTe0 LigeyliLinenn
(d) LmevemioL- 4 genenh SliLimenm
Match List I with List IT and select the correct answer using the codes
given below the lists:
ListT List1I
Rock type Rock class
(a) Rhyolite 1. Calcareous Sedimentary
(b) Conglomerate 2. Foliated Metamorphic
(c) Slate 3. Arenaceous Sedimentary
(d) Dolmite 4. Extrusive Igneous

(a) (© (d
(A) 4 1 2
(B) 1 2 4 3
© 4 3 2 1
(D) 3 2 1 4
(E) eflew Qsflwelevemnsd / Answer not known




131.

GSOLP o0.67.67610 HTOL_LO)
eupesrTL. wOMID 2 Hfl wewred wOHMID Fré
Guretpeumenn BHEG6USID SVVG SeUDEDD
61TENLPSSLILIOE D).
(A) YL 505D 5560
(B) sifiszed
(C) ysedlayemwid

(D) anmiuesmésLo

(E) eew QzMwefevenso

The process of removing, lifting and blowing away
dry and loose particles of sands and dust is called
as

(A) Deflation

(B) Erosion

(C) Oxidation

(D) Carbonation

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

132. qaﬂ@m@mn@ S6UFLD OHNID SHEHEUD (WenDGW
Swimed, Ao OMID ewBLI 66wt GlLwflL_eur wimi?

(A) Qslien

(B) smeuidl

(©) @wev

(D) QsmeobLisiv

(E) lew Qg flweleveneo

Who named the crust, mantle and core as SIAL
SIMA and NIFE respectively?

(A) Kepler
(B) Ptolemy
(C) Suess

(D) Columbus

(E) Answer not known




D 90.67.67610 SSHMOL_LO

133. £Cp OQar@G&é&sLuLl L e eusefled
ueueTLILITemDEeT Hlevmnhs LGS 3160607

(A) wetTesTIT QUEHET(ELIT
(B) && eusmengLn

(©) oo sisel

(D) weounit SLDH&EDT

(E) efew QzMuweNevenso

Of the choices given below, which is not a major
coral area ?

(A) Gulf of Mannar
(B) Gulf of Kachch
(C) Lakshadweep
(D) Malabar Coast

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

134. wempmunssleo 2Blevsdles auevg) g hHMEISTUIE
Bevewyd gievewst B
(A) gmb smisT
(B) dl& smsn

(C) Quett g

(D) anafl
(E) flev QgfNweleveney

The river that joins Jhelum at Muzzftarabad on its
right bank is

(A) Ram ganga

(B) Kisha ganga

(C) Pen ganga

(D) Kali

(E) Answer not known




135.

90.67.61610 SMOIL_L

Spaeti wrBleomsemnear G HDL 6l 0@ 2 HLSSullen
SiglinenL e QoiiE auflensuled ©&mer@®
Qarssiul@srer @Mulen LweTLIOSS Fflwimes
emLeow CsinosH\&s6 D

1. e&86vsi 2. Gameun
3. siBIL_&N 4. @uuan

(A)3421 (B)3412
(C)4321 (D)4132
(E) em Qgflwefevemnev

Arrange the following states in a descending order of
iron ore production and select the correct answer using
the code given below :

1. Chhattisgarh 2. Goa
3. Karnataka 4. Odissa

(A)3421 (B)3412
(C)4321 (D)4132
(E) Answer not known




D g.67.6T610 y&HMGIL_LO

136. @nHwrelled eurgnl Quisssens Cgm_midlweur
wimi?
(A) siamwgl Syl LNGITes
(B) ewswg sianwog)
(C) emmug 168
(D) Quramibiog 6

(E) Mlew Qzfwelevenso

Who founded the “Wahabi Movement” in India?
(A) Ahmed of Boreilley

(B) Saiyid Ahmad

(C) Vileyat Ali

(D) Mohammed Ali

(E) Answer not known




D 90.67.67610 SSHMOL_LO

137. ssgieu Gundlefll senuemw BmeNweun wmi?

(A) CsCapdly Bré sreni

(B) @umzgnymd Guonsest rm

(©) Greitdlyps sreai

(D) Casls sndlrblas

(E) Mlew QzMwelevenso

Who estabilished the Tattuvabhodini Sabha ?
(A) Devendranath Tagore

(B) Rajaram Mohan Rai

(C) Rabindra Nath Tagore

(D) Kesab Chandra Sen

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

138. eibs Qspast gz HHAAwGrr@ sflwrs
Qunphselevene?

(A) euCGs wrzTb: yrelnCosr GCamag
(B) Hlup, @nHwr : flest snSlyLimed
(©) yapst LEUBSBIS SSHT

D) spHur : ufisHrr Caray

(E) lev Qg flweleveneo

Which of the following periodicals is not correctly
matched with its editor?

(A) Bande Mataram : Aurobindo Ghosh
(B) New India : Bipin Chandra Pal

(C) Yugantar : Bhupendranath Dutta
(D) Sandhya : Barindra Ghosh

(E) Answer not known




D g.67.67610 HMGIL_LA

139. smudlyev CerdlweSlevl_ &L
2_(HeUNSSLILILL_g).
(A) 1930 (B) 1931
(C) 1933 (D) 1934

(E) lev Qg flweleveneo

Congress socialist party was organised in.
(A) 1930 (B) 1931
(C) 1933 (D) 1934

(E) Answer not known




D 90.67.67600 SHSHTOL_LO

140. sblpssdle sw wlures Pusssms
Sleusdlweun wimi?
(A) Y. Sursyrur
(B) m.Qeu. Qumogmd
(C) dl.er6t1. 6vvT168BTTGIEDT
(D) emd. smewmhld)
(E) lev Qg flweleveneo

Who was the founder of self-respect movement in
Tamil Nadu?

(A) P. Theagaraya

(B) E.V.Ramaswamy
(C) C.N. Annadurai
(D) M. Karunanidhi
(E) Answer not known




90.67.61610 SMOIL_L

Spaseni apnl (&), smewid (s1) ydwueubenns smSHe
Qarem(®, Gar@ssuul_@erer QgrGUN®HHES 2 BiseT
denLenwg Osfley Qais:

Galm (ga) : 1906940 el SHVSESSHM WMHILIE) SIS
QrenGrrad, 658 wHmID swrTRWD LHH SPedGsm.
smyewid (a1) : 96s yewnqed oo fgburnd Wetener &Czél
Brredld slined sbElLeflanws Qgm_midei.

(A) (an), (81) Qresib &, (&), (gn) parer sflwer elenéad
(B) (), (a1) Brewwnd &fl, yemed (&), (gn)elerr sflwimen
Nen&sid 36060

(C) (&) @I (51) GrewBLd Houmy

(D) (&) &, (81) Seumy

(E) eNen Qgfwelsveneo

Consider the following two statements consisting of Assertion (A)
and Reason (R) and select your answer using codes given below:
Assertion (A) : In 1906 at the Congress session in Calcutta, Dadabhai
Naoroji proclaimed Swadeshi and Swaraj.

Reason (R) :Inthe same year V.O. Chidambaram Pillai founded
his Swadeshi Steam Navigation Company.

(A)Both (A) and (R) are true and (R) explains (A)

(B) Both (A) and (R) are true and (R) is not the explanation of (A)
(C)Both (A) and (R) are false (D) (A)is true, (R) is false

(E) Answer not known




90.67.61610 |SMoIL_L

142. Spsasemeupmier e1g eflung QunmbSuerens)?

(A) @repdladim - QemmAlLiGuimr

(B) 8y aeognet - QIOGETeN 2L 6HTLIG&60S
(C) QamsLi werGpr - usemm Gun

(D) eun_sew - UBIRISLIL Q6D 2 L 6iTLIIG&6ns

(E) eflev Qgflwelleoemen

Which among the following is correctly matched?

(A) Ranjith Singh - Battle of Plassey

(B) Tipu Sultan - Treaty of Amritsar

(C) Hector Munro - Battle of Buxar

(D) Watson - Treaty of Sriranga atnam

(E) Answer not known




143.

g 90.67.61610 SMOIL_L
Seuest Qun@g,g,g,mg,& se( Ulig&se D
- Sleww(Dsae0

1) Camured prwsst

1D uwpd prggn

1) Slmegewtin prusst
(V) gnbgred euné

(A1

©nu

(E) elen Qzflwelsveneo
Which is wrongly matched?
(I) Gopala Nayak

(IT) Raja of Pazhasi

(1IT) Krishnappa Nayak
(IV) Dhoondaji Waug
(A1

©nu

(E) Answer not known

- et

- GHEUTEUTL

B16

- SEhETaT

B)1
(D) IV

- Dindigul

- Malabar

- Kannada

-Tanjore

B)1
D)1V




D g.67.6T610 y&HMGIL_LO

144. Spsanewuemeupmier grgrumi HeuCrmadlul_ew
QunmBSsLHDMSS GDILINbHS.
(A) dypsE Pudus spaid
(B) @ndwnellen oo
(C) @ndwnellenr WPHOLHD Feweveur
(D) GCsaf

(E) Mlew Qzfwelevenso

Find the odd one about Dadabhai Naoroji
(A) East India Association

(B) Voice of India

(C) Grand old man of India

(D) Kesari

(E) Answer not known




D g.67.67610 HMGIL_LA

145. prl(@ Quwmfl Qewdssret L smz 153

Qeuig PnHu wssaflen_Cu QuU@mDL Y&
Cupmeur

(A) siwen ¥y (B) Mtwuer Sy

(C) e evr Sy (D) Guwlwr Gy

(E) lew Qg flweleveneo

Who repealed the Vernacular Press Act and earned

much popularity among India?
(A) Lord Curzon (B) Lord Ripon
(C) Lord Lytton (D) Lord Maya

(E) Answer not known




146.

90.67.61610 |SMoIL_L

SPHSHEI_ EnDMISEHET SEUDEUE] 618

(A) ssbdlr @pureien s smomL YEBHT
Quoerreor GuiL_L_edr

(B) undlevgresfisn (psed semevenio ouEBBT (PSS 36l
oflewewtit

(C) 1947 gyaev 15-g4ib mren @rdlun &sBSrnD
SIS

(D) 1947 spaeiv 16 - sy Brem Lnlsvgrer & HSTID
SAOL5S|

(E) lem Qgfwelsvenco

Which of the following statement in not correct ?

(A) Lord Mount Batten was made the first Governnor General
of Independent India

(B) Mohammad Ali Jinnah became the first Governor General
of Pakistan

(C) On 15th Aug 1947 India became an independent state
(D) On 16th Aug 1947 Pakistan became an independent state

(E) Answer not known




D 90.67.67610 SSHMOL_LO

147. SlmeremiCaeurmui 61bz eubesemg GCanibgeur

(A) smsL aubELD

(B) oirei(® eubsd

(C) slemeu aubeid

(D) #emeu eubgid

(E) Mlew QzMwelevenso
Krishnadevaraya belong to which dynasty
(A) Sangama dynasty

(B) Aravidu dynasty

(C) Tuluva dynasty

(D) Saluva dynasty

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

148. Hluwws sz Speflen 60@

(A) Ohmcm?eqvt’! (B) Ohm'cm’mol!
(C) Ohm! cm? (D) Ohm ¢cm!
(E) Mlew QzfMwelevenso

The unit of specific conductance is

(A) Ohm'cm?eqvt?! (B) Ohm'cm?mol™!
(C) Ohm™ cm? (D) Ohm! cm!

(E) Answer not known




D g.67.67610 HMGIL_LA

149. GeumeoLmBLl i (esT yeme0 jeTeneuss s(mHedl)
eTeid HmHedl erell(Deug
(A) blestestpssd

(B) @m Wersesslen WenesflwsE elens
(C) NesGeurm_L_id

(D) NerCeud) gomest etever

(E) eflew Qgflweleveney

A Voltameter is an instrument used to measure
(A) voltage

(B) e.m.f. ofacell

(C) current

(D) electrochemical equivalent

(E) Answer not known




(A) oizeon NesiGevtnasg iy
(B) sizenn (peniCevtnsss, &y

(C) wperGesmég WenGesmL ojemey

D) @mps_s58 Qurmeflsr aisms

(E) Mlew QzMweleveneo

The colour light emitted by LED depends on
(A) its reverse bias

(B) its forward bias

(C) the amount of forward current

(D) type of semiconductor material
(E) Answer not known
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SSSHETL 61535 Sevilomast 2 Ceonals CLimeSast

eT68Tm| emLp&BLILI(H\SletTmest?

(A) Se, I, Te (B) Ge,As, Sb
(C) In, Pb, Sn (D) Al, Mg, Na
(E) Mlew QzfMweleveneo

Which of the following elements are called
metalloids ?

(A) Se, I, Te (B) Ge, As, Sb
(C) In, Pb, Sn (D) Al, Mg, Na

(E) Answer not known




90.67.61610 |SMoIL_L
uligwe I o ulque I o6 Qurmss eflwnen
alen_enw Caios®d:
uliguieo — I uciqueo 11

a. aeewly. ifl5ze60 - 1. Ams sniuGen_

b. &medlGan 9&8(His60 - 2. GuNiLn&en &evene
c. Ganev aeflby - 3. manl Gy Lieepfls  yleod
d. sremmenr Qameved - 4. QumLrdlwid e &CrrCiLl
Match List I & II and select correct answer:

List-1 List-1I

a. Etching on glass - 1. Zinc carbonate

b. Calico printing - 2. Bordeaux mixture

c. Skin ointment - 3. Hydrofluoric acid

d. Fungicide - 4. Potassium dichromate

a c
A) 3 1
(B) 1 4
©) 2 3
(D) 4 2 1
(E) elem Qgflwefsvensy / Answer not known




D g.67.67610 HMGIL_LA

153. Bieumuy etetiig) SpssenT aumu|Ssaflen seveneu

GO
(A) H, wpmid flefl,  (B) H, wpmib CO

(C) H, wpmio CH, (D) CO wpmid NO,
(E) eew Qzfwefevensv

Water gas is a mixture of

(A)H, and NO, (B)H, and CO

(C)H,and CH, (D) COand NO,

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

154. A,B,C o dlw epeuiiseflest ong gbLien elflsn 2 :
3: 5 gy @w. C- 61 oM15 SDLEMDA 60w STL_1q60ILD

eh. 1,200 giflain eterfler B eor gy 61 FbLienid

6T6BT60T?

(A) em. 14,400 (B) em.24,000
(C) em. 1,200 (D) em.2,000
(E) lew Qg flweleveneo

The monthly salary of A, B, C is in the proportion
of 2 : 3:5. If Cs monthly salary is Rs. 1,200 more
than that of A, then B’s annual salary is

(A) Rs. 14,400 (B) Rs.24,000
(C)Rs. 1,200 (D) Rs. 2,000

(E) Answer not known




D g.67.67610 HMGIL_LA

155. 8 9L it semyaedled 20% gmuw yLblevld 2 ertengy
c1evflev, dlevgdlest 6SIL_L T 366y &HNewsias
(A) 14 B) 1.5
©)1.6 (D) 24
(E) lew Qg flweleveneo

I£20% of pure acid is in 8 litres of a solution, how

many litres of pure acid is in that solution?
(A) 14 (B) 1.5
©)1.6 (D) 24

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

156. symevor oMb &Gragy sHCUTMSW euWIGISH6T
WeopCw 24 eu@HLrEIgsT OHNID 36 6U(HLBISET
eiesfled 8 g eT(HSHERSE (oo &Cres HMID
SAmewt euwg seflenr eNFlg b eTemmeTouns
BeBdnse0?

(A)4:7 B)6:5
©)7:4 (D)3:2
(E) lew Qg flweleveneo

The present ages of Arun and Suresh are 24 years
and 36 years respectively. What was the ratio be-
tween the ages of Suresh and Arun, 8 years ago?

(A)4:7 (B)6:5
©)7:4 (D)3:2
(E) Answer not known




D g.67.67610 HMGIL_LA

157. @m sumLraseafled I 18,000 i8gnen sal’ B 6ulg.,

sefleul iy flweupden eNgHwnsn I405
eteuile eu(HL eul_lg 6D

(A) 12% B) 15%

(C) 18% (D) 10%

(E) lew Qg flweleveneo

The difference between the compound interest and
simple interest accrued on an amount of ¥ 18,000
in two years is I405. Then the rate of interest per
annum is

(A) 12% B) 15%

(C) 18% (D) 10%

(E) Answer not known




D 90.67.67600 SHSHTOL_LO

(A)o6 39
)12 (D)8
(E) lew Qg flweleveneo

The length of CD is

(A)6 39
()12 (D)8
(E) Answer not known




D g.67.67610 HMGIL_LA

159. 66 Gla.1f. X 12 Q\g.15. sTemIld 66 ClBTeTsTL 6(H

2 Geonag goligenest 12 Qa5 2 wippsTer (b
2_(Hewenuing rhplesimed SlenL_&@ 2 (Henerulles
HEVT I|61T6| SHNEVIS

(A) 2772 &.Q&.15. (B) 5148 5.015.185.

(C) 4185 5.05.185. (D) 4158 5.015..5.

(E) lew Qg flweleveneo

Arectangular sheet of metal foil with dimension 66
cmx 12 emisrolled to form a cylinder of height 12
cm. Find the volume of the cylinder.

(A)2772 cm® (B) 5148 cm®
(C)4185 cm? (D) 4158 cm?

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

160. e Caielled 10 wressteuissT QLD WHLICILIeTTTEET

15, 75, 33, 67, 76, 54, 39, 12, 78,11 eesflev

Baen gl (& srnaflenwis sresus.
(A) 460 (B) 46
(C) 23 (D) 230
(E) elev Qg flweleveneo

The marks obtained by 10 students in a test are 15,
75,33,67,76,54,39, 12,78, 11. Find the arithmetic

mean
(A) 460 (B) 46
(C)23 (D) 230

(E) Answer not known
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D g.67.67610 HMGIL_LA

4x27x3125,8x9x25x7 wpmid 16 x 81 x5 x

11 x49 @enr 18LGLM QUG WL KiEns STeia
(A) 180 (B) 360

(€) 540 (D) 1260

(E) lew Qg flweleveneo

The HCF of 4 x 27 x 3125, 8 x 9 x 25 x 7 and
16x81x5x11x49is

(A) 180 (B) 360
(C) 540 (D) 1260

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

162. eN(uL_L eTetoremennts: &nevots: : 3, 12,27, 48,75,
108,

(A) 147 (B) 162
(C) 183 (D) 192

(E) lew Qg flweleveneo

Find the missing number: 3, 12,27, 48, 75, 108,

(A) 147 (B) 162
(C) 183 (D) 192

(E) Answer not known
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163. /2116 =46 afl 6
V21.16 ++/0.2116 ++/0.002116 wSer iy

(A)5.106 (B)5.116
(©)5.122 (D)5.221
(E) lew Qzfwelsvenso

If V2116 =46 then the value of
V21.16 +40.2116 ++/0.002116

(A)5.106 (B)5.116
(C)5.122 (D) 5.221

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

164. Yesteud (pigeiledls Ggm_fen gnDH60 Hnevwrs.

108, 36, 12, 4....

(A)216 (B) 162
(C) 160 (D) 256
(E) flev Qgfwelevenev

Find the sum to infinity of the series 108, 36, 12,
4.

(A)216 (B) 162
(C) 160 (D) 256

(E) Answer not known




D g.67.67610 HMGIL_LA

165. NulLeng sewsbig
GT,IR,KP,  ,0OL
(A)AZ (B)BY
(O)MN (D)EV

(E) Mew QzfMwelevenso

Find the missing term

GT,IR,KP,  ,0OL

(A)AZ (B)BY
(C) MN (D)EV

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

166. 9 SAevndlaet 9 eusmeveni 9 B _sefled Meteniflna

eiesfled 1 feond 1 euemevens e15Gement Hafled
Slestemd?

(A) 1 mmen (B) 9 mrlaen

(C) 18 muL &6 (D) 12 Brlsen

(E) lew Qg flweleveneo

If 9 Spiders make 9 webs in 9 days, then 1 Spider

will make 1 web in how many days?
(A) 1 day (B) 9 days
(C) 18 days (D) 12 days

(E) Answer not known




167.

D 90.67.67610 SSHMOL_LO

‘HUMBLE’ stenueng EHLUBM erem b
@ouLreo griugesr EDUCATION eremid
@MUIG e1Femens GNlSEG0?

(A)NEDOIUTCA

(B) NEOIDUTCA

(C) NEDUOITCA

(D) NEODIUTCA

(E) Mew QzfMwellevenso

If ‘HUMBLE?’ is given by the code EHLUBM.
What does the code EDUCATION mean?

(A) NEDOIUTCA

(B) NEOIDUTCA
(C)NEDUOITCA

(D) NEODIUTCA
(E) Answer not known




168.

o0.67.67610 SSTOIL_LO

&Lﬁugﬁs\) enn(W& euflseT HMID &hisE Frailgserfle
wsHw eurflwd ehs elwrer HeweowsSems
sefliuwenr flefllasiul’ L eflorer Hleneowinns
Sflefisgiareng?

(A) smasyn edwres Hleneowid

(B) unsGuints eSlwmenr Hlemeowiid

(C) geumdl NGeustesBgn FieuGses eflwme Hleneowid

(D) @adimain eflwnest Hleneowitd
(E) elew_ Qg MweNevsmned

Recently, which airport has been declared as a Customs
notified airport by The Central Board of Indirect Taxes
and Customs?

(A) Kangra Airport

(B) Pakyong Airport

(C) Swami Vivekananda International Airport
(D) Kushinagar Airport

(E) Answer not known
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169. asrrme\)gjmmuﬁlmrﬂm Caemeusemen é{[_{)]'lf)gl
Qansren Lglw GCuneSsiv HLlapem68T eSS 6THS

wrhleond (g6 ClFwigisTeng ?

(A) sHpBIE

(B) wgdwis 195Gz

(C) Qzeimismewtm

(D) wesfli,

(E) lew Qg flwelevenso

Which state has decided to set up a new Police
Commission to get to know the demands and needs
of cops?

(A) Tamil Nadu

(B) Madhya Pradesh

(C) Telangana

(D) Manipur

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

170. ey wrhlegdled/weflwen NrCsesded
Sa6ued OHNID CFMfleomL LD LHMID Hnes
Guowum_gmans SnSwiredlest (pseo GlestolLim(mer
Qmfleomi L Lmist fredeu shHrCasrmed emis,
Snhg eneussLLLL g)|?

(A) Guameowr (B) mrsneonmig

(C) fladlb (D) v _s556y

(E) lew Qg flweleveneo

In which state/UT, its first Software Technology
Park of India has been inaugurated by Rajeev
Chandrasekhar MoS for information & technology
and skill development?

(A) Meghalaya (B) Nagaland

(C) Sikkim (D) Lakshadweep

(E) Answer not known




171.

D g.67.67610 HMGIL_LA

s Pudu paErsded CLBRISDHETVSSHDSTE
@@ Cwsiani senrOLiigsslinl L g)?

(A) Qzuigneowoi (B) wevemi

(C) s156a1Gam6d (D) gguoLpit
(E) lew Qg flweleveneo
In which Indian city a Menhir from the Megalithic

period has been found?
(A) Jaisalmer (B) Basrur
(C) Asansol (D) Jabalpur

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

172. @eauleunrm oyer@n ‘Seorn QuhSHwn
SMsemaemw 6hg Hnleued Cleuaflulli@Sns?

(A) Cadlw @DHD uHle| SIS

(B) B4 oyBuns

(C) CunemaliGlunmer sL_(QLun @G ueswnflwasn
(D) wgdHw Levesmiie) eumfluib

(E) lev Qg flweleveneo

Which institution releases the ‘Crime India’ report
every year?

(A) National Crime Records Bureau
(B) NITT Aayog

(C) Narcotics Control Bureau

(D) Central Board of Investigation

(E) Answer not known




D g.67.67610 HMGIL_LA

173. e efiiiqen eflemev 15 Qe &b emumuieS(BHaI

12 Qe &b epUTWLTSS GHODHSS 6T6vfl60

&ODES 565510

A)10% B) 20%
C)30% D) 40%
(E) Mlev Qzflwelevenso

The price of a house is decreased from rupees fifteen
lakhs to rupees twelve lakhs. The percentage of

decrease is
A)10% B) 20%
C) 30% D) 40%

(E) Answer not known
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174. e yerefl eleursdlen elevss euiiss grnafl 6.25

cievfled igenr Sl L eNevssd SHresurs
(A)2.5 (B)0.25
(©)3.25 (D)3.5

(E) lev Qg flweleveneo

If the variance of a data is 6.25 find its standard

deviation
(A)2.5 (B)0.25
(C)3.25 (D)3.5

(E) Answer not known
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175. e WBGCHM L LD &Ml #8117 aiquiled 2_6TTeng). 6o
epemev el L _migem 18 15, 25 15 LECaHM L Sdleot

LTLILIETE| ST6uuTs.

(A) 450 15? (B) 225 152
(C) 324 & (D) 18 &2
(E) flev Qgfwelevensy

A flower garden is in the shape of a rhombus. The
lenth of its diagonals are 18 m and 25 m. find the

area of the flower garden.
(A) 450 m? (B) 225 m?
(C)324m? (D) 18 m?

(E) Answer not known




176.

90.67.61610 |SMoIL_L

@ LseLeow 2 B GoLnpg ef Sy oL LiLienL
616507 SlewL_LILGDSTEN BlHLPSSHe| WG] ?

(A) — ®) 2
3

©) 1 D) >
2 6
(E) em QgfMlwefevemnev

What is the probability of getting an even number when
a die is thrown?

(A) 3 ®) 2
6 3

©) l (D) >
2 6

(E) Answer not known
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177. eweudev eterueunr I 500 & eaiQeun
LI5S CFT_S55FNID F EhFas5Sled 5
DS EHHGHE Oeasgidlenpi. eullg eizb
7.5% etevfled 5 oyemi(Has (Wigefled e Glumib
Qgnens eTeueueTe,?

(A) X 35718.75 (B) ¥ 37518.75

(C) X 37581.75 (D) X 35817.75

(E) Mew Qzfwelevenso

Vaideesh deposits ) T 500 at the beginning of every
month for 5 years in a post office. If the rate of
interestis 7.5%. Find the amount he will receive at
the end of' 5 years

(A)  35718.75 (B) T 37518.75
(C) T 37581.75 (D) T 35817.75

(E) Answer not known
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(1728)" + (343)"
(625)1/2 _ (3 6)1/2

178. &maEs:

(A)4 (B)3

©)2 D1
(E) lew Qzfwelsvenso

(1728)" +(343)"
(625)1/2 _(36)1/2
(A4 B)3
©)2 ™1

(E) Answer not known

Simplify:
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179. NSleusmoriquiied 5 &.15. gnrsens emeur 20

Bifl_gdlev sLsflpri eteflled 50 HOL_GHlev
Qjeul eTeueueTe| SN GClgeveumi?

(A) 10.5km (B) 12km

(C) 12.5km (D) 13.5km

(E) lew Qg flweleveneo

On bicycle a man cover 5 km in 20 minutes. How

long he can go in 50 minutes?
(A) 10.5km (B) 12km
(C) 12.5km (D) 13.5km

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

180. A womid B oyl Gmeumpn Dewewing @b
Geusmevemrws 16 mrlsefled pgliur. A geflGw
b3 GCeuenevemi 48 B _sefled (gl eresflev,

B sefllCw 965 Coueneveni e1ssemes mr_serfleo
g Liumi?

(A) 18 Br_sen (B) 24 mm_sen

(C) 28 mr_sen (D) 30 mrasen

(E) lev Qg flweleveneo

A and B together can do a piece of work in 16 days
and A alone can do it in 48 days. How long will B
alone take to complete the work?

(A) 18 days (B) 24 days
(C) 28 days (D) 30 days

(E) Answer not known




181.

90.67.61610 SMOIL_L
QR SO @ Qunmefler &8 elensouied
15 #z6isd HHlswrsd gser GNs5s leneo
EBGHADTT. v 15 sgeisn FerEpUy SHSI
epuener GELADIT 6Terl6d HEOL ST DL HEEI.
(A) eomuid
B) BLLb

(C) oD evemev BLL (D Gevsmev
(D) eomunge|b @ Ha@GHD BL L orsab B(HEESLn
(E) elew_ Qg MweNevsmned

A shop keeper marked the price of an article as 15% more
on its cost price and then offered 15% reduction for the
article, then he got

(A) Profit

(B) Loss

(C) Neither Profit nor Loss
(D) Profit as well as Loss
(E) Answer not known




D g.67.6T610 y&HMGIL_LO

182. @@ narsdles waser Qgmenas 2014-60 1,80,000.

31 eubleunh et 20% QL(HEGLmeuTTe0

2016-3yid o ewT(h WS CFGTens eTesTes?
(A) 2,40,000 (B) 2,59,200

(C) 2,55,000 (D) 2,54,300

(E) lew Qg flweleveneo

The population of a city in the year 2014 is 1,80,000
and increases at a rate of 20% per year.

Find the population of the city in the year 2016?
(A) 2,40,000 (B) 2,59,200
(C) 2,55,000 (D) 2,54,300

(E) Answer not known




D g.67.67610 HMGIL_LA

183. 16, 24, 36 womid 54 AW eTeTHATTED

BEullenh) eu@LLL_samiqw N&EANW 5 Qevss
6T6TTT 618517

(A) 10460 (B) 10368

(C) 12342 (D) 10132

(E) eMlew Qg flwellevemev

Find the smallest number of 5 digits exactly di-
visible by 16, 24, 36 and 54.

(A) 10460 (B) 10368
(C) 12342 (D) 10132

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

184. Coflw Qgmpleomi L Sesin?

(A) G - 11 (B) Gw - 12

(C) oS - 11 (D) ertiged - 12

(E) eflew Qzfwelevenso

National Technology Day marked on?
(A) May - 11 (B) May - 12
(C)June - 11 (D) April - 12

(E) Answer Not Known
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185. Gl QLrig Hevrd?

(A) mgevteufl - 24 (B) Gw - 16

(C) G - 14 (D) Gw - 15
(E) elew QzfMwelleveneo

National Dengue Day marked on?

(A) January - 24 (B) May - 16
(C)May - 14 (D) May - 15

(E) Answer Not Known




D g.67.6T610 y&HMGIL_LO

186. @nHlwrn - mrngs BrEssT Qew_Guiwmes 26ug

2 e 6@ BeoLCluhma?

(A) @rGanCeranglun (B) rrpmett

(C) QLetronig (D) reflwr
(E) lev Qgflweleveneo

Where was held the Secend India- Nordic summit
(2022)?

(A) Indonesea (B) Iran

(C) Denmark (D) Russia

(E) Answer Not Known
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187. 2 o085 genellev dla Lwenilgener engwimessT
ewresflemeows L iqguwielled 21d QL b 9955
BrHw eSwrebleneowd 618)?

(A) giumis sreuCge ellwmehleneowid

(B) Qangdl sieuCse eNlwneshleneowind

(C) silevnevwr eflonest Hleweowid

(D) @pdrmand sieuCse efwrehlensowid
(E) eflew Qzfwellsvenso

Which airport has been ranked as the Second busiest
airport from India in the world?

(A) Dubai International Airport

(B) Cochin International Airport

(C) Atlanda Airport

(D) Indira Gandhi International Airport
(E) Answer Not Known




o GSHILD o0.67.67600 HTOIL_LO)
188. CIA semevemi Ggmifleomu ydlarflwns
Bluwwestd Gewwtiul L. @ndHu eubereusflenwid

Gebgeur wmi?

(A) BBs epevspbsedl

(B) efleveSwib gsnrs

(C) G er6i0.Camamest
(D) s@swsw

(E) eflew Qzfwellsvenso

Who is the person os Indian origin wass appointed
as the chief Technical officer of CIA?

(A) Nand Mulachandani
(B) William Saharad
(C) David S. Cohen

(D) Tarun Kapoor

(E) Answer Not Known
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189. 2. 0 HCe0Cuw 10 & G0 g medtem b wi 6wt O & 6w

euTeOMHMNEHTSHATTEL SH(HSLILI(D6USI

(A) shenss gwbleuafl

(B) epdluwenevs@s Qandlepstet LigS
(©) auCwpE Pudws Fwbleuafl

(D) Qeoqpflwum

(E) lev QgfNwelevened

The area that was considered as the most ancient
one in the world

(A) Ganges valley

(B) the area in the south of Vindhyas
(C) north west valley

(D) Lemuria

(E) Answer not known




D g.67.6T610 y&HMGIL_LO

190. @evL_semsd BMLCLDD BHSTLD

(A) Qzevr wgleOT (B) sum_ymb

(C) snL60 masit (D) waiewr epgni
(E) elew QzfMwelleveneo

The city where the second sangam was held

(A) Thenmadurai (B) Kapadapuram

(C) Koodal Nagar (D) Madurai Muthoor

(E) Answer not known
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191. &iis sreusSle0 2 wihg ellemhdu Cgmdled

(A) Cpeay

(B) suewflab

(C) emaeflener Glgmiflev
(D) Geuenmevstenio

(E) elew QzfMwelleveneo

was the most important occupation of
the Sangam Age.

(A) Weaving
(B) Trading
(C) Crafting
(D) Agriculture

(E) Answer not known
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192. 1967 oylb 16501960 HBNEHT HETTTETTT eLITGH6TTE0

SOPBIMH stevrs Gluwifl i L g,
(A) Qe G un
(B) Qe wrfleoid
(C) QznE Sirssen
(D) QoL_gmérv omsmessTid
(E) lev QgfNweleveneo
Anna named as Tamil Nadu in 1967.
(A) South India
(B) South State
(C) South Kingdom
(D) Madras Presidency

(E) Answer not known




193.

90.67.67610 SSHMOL_LO

gflwnest efﬂml_mu.lg, Caip0s®.

i. CupE uGSsemen GarisEpb, WLHMID UL FLP&HE
L@Slaener Canpisepd oy 8 Claigeui.

ii. ucomeflunm QzemenmenL 1 Gurenmy LSz,

uesflQresor @ Lk Quflwg).

iil. waiemr epgIfled sam_semsan BeoLGLDDE.

(A) 1,11l (B) i w (@b

(©) 1, i, iii (D) 1,iii

(E) eflew QgMwelevsmnen

Choose the correct statement.

i. The west and northeast part of South India were ruled
by Cheras and Cholas.

ii. River Faheruli was ten to twelve times bigger than
South India.

iii. The last Sangam was held in Madurai Muthoor.
(A)i.1il (B) only i

(C) 1, ii, 11l (D)1, 1ii

(E) Answer not known
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194 e &Cs @uowid eueny Geem QeunmMlsEtlsmg
Bl UIeUTgeT wmi ?
(A) Gzrev @mOILITEMMD
(B) @uwweurbuss QrH\epCareongeo

(C) Garenr Qami@L_Deus

(D) B wpmin C
(E) lev QgfNweleveneo

Who reached the Himalayas and hoisted the Chera
flag ?

(A) Cheral [rumporai

(B) Neduncheralathan

(C) Cheran Senguttuvan

(D) both Band C

(E) Answer not known
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195. slpmrigeo wreul L b Hp&s

SLDa&OTCWISSe0 SiemhgIeTeng.

(A) Bevdifl

(B) Ggerfl

(©) mrsLLLiqewid

(D) Gamwibyggm

(E) eflew Qzflwellsvenso
district lies on the east coast.

(A) Nilgris

(B) Theni

(C) Nagapattinam

(D) Coimbatore

(E) Answer not known
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196. 2 evaeonell QevsHlwibd ererr empHsLILILL
Sma@menen srpSlweur wini ?
(A) slywenflw Lryd
(B) efmwmpevileur
(©) Seusnenei
(D) Quflwmpeumt

(E) eflew Qzflwellsvenso
Who is often portrayed as a holy sait of Tamil Nadu?
(A) Subramaniya Bharathi

(B) Veeramamunivar
(C) Thiruvalluvar

(D) Parimelazhagar
(E) Answer not known
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1. Ap&Es QeTisdl wemed  a. wgiemr

2. Cop@s Cstizd weme b . siBIL&D

3. srelifl gym c. Beodil

4. e’ iq d . Cereurmuest

5. meuens € . emesaflen orél

Match the following :

1. Eastern Ghats a. Madurai

2. Western Ghats b. Karnataka

3. Kaveri river c. Nilgiris

4. Ooty d. Shevarayan

5. Vaigai e. Queen of Hills station
3 5

(GY)

(B)

©

(D) d

(E) eflew Qgfwellevemen / Answer not known

b
c
c
b

a
a
d
a




198. sllpmriiges sreofleneo
FMHSSH!.
(A) SjwestoessTL_6VLD

(B) 056l6uliL wewsTL_60LD
©) a@aiuEs
(D) spings LGS

(E) eew QzfMwellsvenso
Tamil Nadu has climate.
(A) Tropical

(B) Temperate

(C) Polar

(D) Arctic

(E) Answer not known




199. 2 uliflesr euenmusen stewiLi(Reug

(A) Coyid (B) 2_uliGsremid

(©) &i (D) snpp

(E) lev QgfNweleveneo

Biotic resources are those obtained from the
(A) time (B) biosphere
(C) water (D) wind

(E) Answer not known
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LGOS ST(D\&6r a. sn(psafle CUTmLse6i

LHaUenps Sr(bHsen b. riF (WPHEO 26w eueNT

@erflismeotd d. Grmeroey_

1.
2.
3. CanemL_ssmeotd C. lg&bLIT (p&60 L ieul euemry
4.
5.

ILILEENS e. Peveosemen 2 Figge0
Match the following :
1. Evergreen Forest a. Forest product
2. Monsoon Forest b. March to June
3. Hot season c. December to February
4. Cold season d. Rosewood
5. Timber e. Shed the leaves
1 3
(A) e
(B) a
(@) a
D) d
(E) MewL Qgfwelevemer /| Answer not known




